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Mathematics A

Paper 2 (Calculator)

Higher Tier

Mock Paper :: Paper Reference

Tim: 1 hor 45 minutes 1 MAO/ZH

{ You must have: Ruler graduated in centimetres and millimetres, Total Marks
| protractor, pair of compasses, pen, HB pencil, eraser, calculator.
, Tracing paper may be used.

Instructions

Use black ink or ball-point pen.

Fill in the boxes at the top of this page with your name,

centre number and candidate number.

Answer all questions.

Answer the questions in the spaces provided

— there may be more space than you need.

Calculators may be used.

If your calculator does not have a 7 button, take the value of 7 to be
3.142 unless the question instructs otherwise.

Information

The total mark for this paper is 100.

The marks for each question are shown in brackets

- use this as a guide as to how much time to spend on each question.

Questions labelled with an asterisk (*) are ones where the quality of your

written communication will be assessed

- you should take particular care on these questions with your spelling, punctuation
and grammar, as well as the clarity of expression.

Advice

®
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*
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Read each question carefully before you start to answer it.
Keep an eye on the time.
Try to answer every question.
Check your answers if you have time at the end.
Turn over ¥
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GCSE Mathamatics IMAQ
Formulae — Higher Tier

You must not write on this formulae page.
Anything you write on this formulae page will gain NO credit.

Volume of a prism = area of cross section x length Area of trapezium = 15(5" + bk

e —>
[ h N
e b >
Volume of sphere= ‘%mf} Volume of cone :% mr'h
Surface area of sphere = 477° Curved surface area of cone = 77/
. l/ h
In any triangie ABC The Quadratic Equation

The solutions of ax’+ bx+c=0

C
b a where a # 0, are given by
b + /(6% — dac)
A - B e

2a

b«
sind smAB sinC

Sine Rule

Cosine Rule &= p*+ ¢~ 2b¢ cos 4

Area of triangle = %ab sin C




1

Answer ALL questions,
Write your answers in the spaces provided.

You must write down all stages in your working.
5 kg of apples cost £7
2 kg of apples and 3 kg of bananas cost £5.65

Work out the cost of 1 kg of bananas.

A-Pple.s . S5kg - £F

33€3 Bawnwanss cotk = ©9.65 — 2.80
5% %ﬂmas«w@s; £2.85

“ﬁﬂ Bananas = A- 85 =3
£0:95 = 5penc,

(Total for Question I is 3 marks)

p]

45.6x123

(a) Use vour calculator to work out the value of 0342 _ 0080

Write down all the figures on your calculator display.

— c (%)
x [123]) < (i@.%@x" ~lo.28 :xf') =

(So174.193s

(b) Write your answer to part (a) correct to 3 significant figures.

1‘9‘_9}??4. 1935 = 151000 o

(Total for Question 2 is 3 marks)




-3 The scatter graph shows the maths mark and the art mark for each of 15 students.
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(a) What type of correlation does this scatter graph show?

(b) Draw a line of best fit on the scatter graph.
Sarah has not got a maths mark.

Her art mark is 23

(¢) Use your line of best fit to estimate a maths mark for Sarah.

(Totak for Question 3 is 3 marks)




4 Jasmin walked from her home to the park.
Here is a travel graph for Jasmin’s journey from her home to the park.

4

L= =

Distance from
Jasmin's home \

(km) , : \;\

[FS)

0 \\\’ .
0900 0930 1000 1030 1100 ? 1130
(a) For how long did she stop?
{1
i@ ........................ minutes

Jasmin stayed at the park for half an hour.
She then walked home at a speed of 7.5 km/h.

{b) Complete the travel graph.

(Total for Question 4 is 4 marks)

Distaavice = © Ewa
Speed = 1.3 Km [ .
T -2 =22 hrs = 4omn
7.5 3
TJoswiiin arfives home al %o




Diagram NOT
accurately drawn

. L HFE= L FBA =127

{ wrraﬁf.@m dif are fome + 9)
86
ABC and DEF( are parallel. ﬁ h & &Mﬁ aﬁ(d d Mfﬁ}w /

4 : : [
AEH and BFH are straight lines. o @ & FEH = & HED = 28

Work out the size of the angle marked x°. {V? real {5 ﬁ? o 3.2 }@ AaAFe€ Q% ﬁ)ﬁ.ij

ces A= fg@“‘{/zm?"’f‘ﬁg\} {ﬂw‘ﬁf&oaéﬁ_aé‘ﬁm&@kﬂf{bﬁa
r= 25°

(Total for Question 5 is 3 marks)

6 (a) Solve Sx+2=2x+ 17
Ex -2 = |7 ~2 @)
e = 15 o)

(b) Solve the inequality 3(2y + 1) > 10

%x&j +3xt »lo @
Y
ég +3 0 3.7 06 .
éi‘f } lo -3 (Total for Question 6 is 4 marks)




7 Here are some people’s ages in years.

(\ES

\c:
3 K\Lof W\

S

s\‘ﬁ ‘fi

N2 &%
\8
NIRRT
?\ﬁ

\E

In the space below, draw an ordered stem and leaf diagram to show these ages.

9.9 LF 2as 3e 31 33 42 44 41 4%
S| 61 &3 &3 &3 £7 69

So T4 S6
stew leaves .
2 1 2 5
2| 0 ﬁ 3
42 o4 T8
ol 2 2 3 3 F 9

k@’fﬁ 4l2 = #Qjeaf“s -

(Total for Question 7 is 3 marks)




8 Tim is travelling home from holiday by plane.
He buys some food and drink on the plane.

Price List
Cheese Roll £3.50
Crisps £1.20
Chocolate bar £1.30
Coffee £2.50
Tea £2.00
Orange Juice £2.20
Exchange rate £1 = 1.25 euros

Tim buys two cheese rolls, a coffee and an orange juice. = 2 x3.50 T 1-50+ 2-2o

pres -y

He pays part of the cost with a 10 euro note. — % TP
He pays the rest of the cost in pounds (£). - )

How much does Tim pay in pounds? "
L1 =€1.2S 56, elo =K
elo + 1L.2s= £8

Tl po .30 -8 ag&?ﬂ

(Total for Question 8 is 4 marks)

9 (a) Factorise fully 6*+ 12y

R R AT

K% +{3kc+30= élﬁ’bl@)(j{{w&g

(2

(b) Factorise &+ 13k+ 30

7+¢9=103 10,3
9.x7= 80 (ie+lo) (ke+3)

(Total for Question 9 is 4 marks)




P

10 The diagram shows a cuboid.

Diagram NOT

: accurately drawn

g x+4

| I

A
X
g h
< X g Vd i wme L r 4 WAJ A .

A cuboid has a square base of side x cm. W A G |
The height of the cuboid is (x + 4) cm. = ARXRXX ¢ ' }
The volume of the cuboid is 150 ¢cm?, - 5% + 4 }

(a) Show that x* + 4x* = 150
ml(’x+¢) = 50

The equation x* + 4x* = 150 has a solution between 4 and 5

(b) Use a trial and improvement method to find this solution.
Give your answer correct to one decimal place.
You must show ALL your working.

x x>+ 42 H7 LT
4 | 4%+4(w> =129 Lowy .
5| 5+4(s) =22s HHqh .
51 4. g% 4(4.5) = 12125 Ihigh .
2.
3

42 +4(4-2)°=144.643 Low .
4. % + 4(4.3)" = 153 Uébw ihﬁ&\
.25 42& + 4(4.28) = 149.0i5 | Lowv . %14'3{5%

(Total for Question 10 is 6 marks)




11 The table shows information about the numbers of hours 40 children
watched television one evening.

M i @‘Ft Number of hours (/1) Frequency

.S 0<h<l 3 3

1.5 1<h<? 8 3+8=11
4-3 2<h<3 7 iLe1 =18
3.8 3< h<4 10 18 tio=28%
4.5 4<h<5s 12

(a) Find the class interval that contains the median.
d{ - 26™ valua @
3 sh<yg

(b) Work out an estimate for the mean number of hours.
)
(0-5 x 2+ SxE)+ (2-5x3) +(3.5x 1) #(45%1Y
40

M@ﬁw -

M@ﬁm - 3

(Total for Question 11 is 5 marks)




12 Y

T2

(a) Translate the triangle above by the vector 3)
(1)
Yi

(b) Describe fully the single transformation that maps triangle A onto triangle B.

. Rotahon, cavte (00) , 180

(Total for Question 12 is 4 marks)




- *13 Jenny fills some empty flowerpots completely with compost.

6cm
T T Diagram NOT
A s
M— accurately drawn
15cm
v
w

Each flowerpot is in the shape of a cylinder of height 15 em and radius 6 cm.
She has a 15 litre bag of compost.

She fills up each flowerpot completely. . .
How many flowerpots can she fili? cirele radaus bam
You must show your working. i

o Vﬁ%ﬁw e ot rg)ﬁ' - A TEe aﬁ CHDSE _g@d-{@m A Mﬁ §\k

3
iwe = 540 TT e

B~

.. |58 = 15 % looo cw® = 15000 ewt

. o i\fumwa—;ﬁ f.muf{h: |Soo0 ~ 54017 -
- .84 ﬁwr{nﬁ&

BT

(Total for Question 13 is 4 marks)




14 A ladder is 6 m long,
The ladder is placed on horizontal ground, resting against a vertical wall.

The mstructions for using the ladder say that the bottom of the ladder must not be closer

than 1.5 m from the bottom of the wall. Ladder
How far up the wall can the ladder reach? é, Y B
Give your answer correct to 1 decimal place. / AN
2 z 2 Q‘y/ - wall
( = 1.5 tw 5%%&30@«5) Y, 2 v w1
2 Z- /
w s 6 - I3 /  1-Sm v
. NIRRT
L\ 36- aas ground
W = 5 8 m
5.8

(Total for Question 14 is 3 marks)

15 In a sale, normal prices are reduced by 20%. N&FM@&‘PWC@.?@ Reduvchon ¢ Sale.

The sale price of a coat is £52 5@0? m?} %g&%’ﬁm
© s (S A

Work out the normal price of the coat.

o .
Sale Pr{ceo.«:_ 20 /o 0L NOTWai price .

%@\‘ﬁ. Pﬁfﬂ-‘ = @3& = V“}@rmﬁi Pfﬁ'g@_
.80 % normal fr‘ie@. -~ 52

Worwial Primz_ 52 -~ 0.%0

(Total for Question 15 is 3 marks)




16

Diagram NOT
PR S 7' G accurately drawn
A B
N : W v~
x
SO0WCARTOA
C

ABC is a right-angled triangle.
Angle B = 90°,

Angle 4 = 36°

AB = 8.7 cm,

Work out the length of BC.
Give your answer correct to 3 significant figures.

T&V‘\ %QQ: -%E
A

T&V\, %éafzz. EQ
O

6aC = 8-F ﬁTﬂﬂ%éw
RC = 6. 3209

(Total for Question 16 is 3 marks)




s -t Y= ~1 2 =Bty ~ 1
17 (a) Complete the table of values for y =x* —3x — 1 == ‘3+3 AP
e x= .S y=ts .."56%-25}')..1:

x -2 ~1.5 -1 ~0.5 0 0.5 ] 1.5 2
y 3 | 0125 ! 0375 | =& | 2375 | -3 |=2.125 |
T R 3:“23'-3{%)‘“‘
(b) On the grid, draw the graphof y =x* - 3x -1 for-2 < x <2 - g-o-t=
{2}
Vi
2
fo b 4 X i i
H f i
j’
; iy N *
-2 Sﬁ 1 O 1 2 X
BN IR T
P N e
¥
! X I
!
; LY
F;
/-
= i
% 3 -
/1[
(c) Use your graph to estimate the solutions of the equation x* — 3x — 1 =0
Y

Yo ~LS . YL =04 . v X=1.850 2149
) )
X = "‘-5}"’“@'{-) \0q

{Total for Question 17 is 5 marks)




18 Hannah is going to play one badminton match and one tennis match.
9
The probability that she will win the badminton match is —
The probability that she will win the tennis match is —

(a) Complete the probability tree diagram.

{2)
bhadminten tennis
w
% Hannah W
/ wins
Hannah —
wins |
Hannah W W
et does not win
H.j:mnah W W

Harnmah
does not win

3/\ Hannah W W
5 does not win

(b) Work out the probability that Hannah will win both matches.

. q < I8
} {0 5 50

{2)

(Total for Question 18 is 4 marks)




19 On the grid, shade the region that satisfies all three of these inequalities

y>—4 x<2 y<2x+1
Y ey
6
/
.i/
! /55
f/\\:
/N
A7
D
NN -
-6 -2 0 ? 4 6 x
R NUANAN
/(\\:\\ N
/\ \—4\ ' Yr-4

(Total for Question 19 is 4 marks)




20 (a) Write the number 0@{2937 in standard form.

-y (1)
3. % % o 4
3.1 X lo
{b)y Write 8.25 x 1{¥ as an ordinary number.
(1)
? A% X love
8250 .
{¢) Work out (2.1 x 10%) x (6 x 10°).
Write your answer in standard form.
] -5 (2)
Al x 6 x loxlo
3
2.6 x lo
3
.26 xlo xip
-26 X o

(Total for Question 20 is 4 marks)

21 The length of a rectangle is 30 cm, correct to 2 significant figures.
The width of a rectangle is 18 cm, correct to 2 significant figures,

(a) Write down the upper bound of the width.

(b) Calculate the upper bound for the area of the rectangle.
U, area~ UL x Upn
- 3.6 x 18- T _

(Total for Question 20 is 3 marks)

. em




22 The diagram shows a child’s toy.

A
Diagram NOT
accurately drawn
22cm
L}
v v h@lﬁht L% lovie =

a9 ~1 =1S

The toy is made from a cone on top of a hemisphere.

The cone and hemisphere each have radius 7 cm.
The total height of the toy is 22 c¢m.

Work out the volume of the toy.
Give your answer correct to 3 significant figures.

UAL QE‘D&.} = VQ%MQ

£}

e i_iﬁ'&} % nx ?’3 +

}
jo—e
f""‘*‘"ﬁ
o
R
e
=
=4
wtd
0
=
e

(Total for Question 22 is 3 marks)




23 The table shows information about the total times that 35 students spent using
their mobile phones one week.

Time (4 hours) Frequency Fr-ﬁﬁ ’ dﬁ W51 i’if
1 )
O<h<3 8 8“:@-%’::56‘
1 '
5 <h<l 7 T+0.5= 14
1< h<2 n 1= 1\
2<h<4 9 4=-2=4.5

On the grid below, draw a histogram for this information.

i
l6
Y4V
4D
VIR 4/
Frequency 4 f // 7
density // ffl / ;f a4
A V.4 /
¥ [f’ff II//
/S /7
il )
g/f; /éf ﬁ’f/{
4 / /4///,/’ 4 FAN . / 7
.ff{/»/f’af’/fff/;
(VY NSNS S
RV SOOI PP
af’f //%// f///;, _
0 ! 2 3 4
Time

(Total for Question 23 is 3 marks)




#

*24  The diagram shows the plan of a field.

Diagram NOT
accurately drawn

AB = 68 m.
DC =95 m.
Angle ADC = 136°.
Angle DAB = 85°.

DB =240 m.

Work out the area of the field.
Give your answer correct to 3 significant figures.

SmAbp _ SmMES . s AbB= égﬁmﬁg
68 240 240
< Abb= 164 _
< ABD= 180 (lb-y +85) = 786

L4

.. AD _ BD . AD=Bbx Sigg
Sm."?g ¢ smES S
AD = 236 v .
o oo  Pveo , smES
v of ADB A i&%axégx n
= Wq@ mt -
coee fvta of 4 CDB .

L %qui%x&m( [3e-16-4) Wx D wm*
@

Y™\ avea = frea A COBA frves A ADPS ?QQS m?
= ‘;f..qﬂig + %%\ © (Total for Question 24 is 6 marks)




25

¥ = fx)

(3,1

The diagram shows part of the curve with equation y = f(x).
The coordinates of the minimum point of this curve are (3,1).

Write down the coordinates of the minimum point of the curve with equation

(a) y=1fx) +3

(v19) > (% y+3) "
(20D < (3, 4) 3.4
(b) y="Hx-2)

(”xe g} S ‘I%Q:ﬁ}
(300 (C S0 9 1

© y=1G9) | .
(x19) ~ (2% 9)
égii‘) —) <5 ; 3) (éﬁ)

(Total for Question 25 is 3 marks)




%26 The diagram below shows a hexagon.

4x -3

[ ] Diagram NOT
¢ accurately drawn
Nz (2n+5) - ("x+ 4-)
TN A

o B
x+4
[ 1 ]
2x

All the measurements are in centimetres.
The area of this shape is 102 cm?®.

Work out the length of the longest side of the shape.
4 -3

- i) .
Avea = Cax ’%}f?ﬁ‘f’
4o’ +2 =3 i o gt -OE -3

= 4a* A3

P
e
o e

xt+q Swea= 22 (x+4)
-~ a2*+rE%

-3
5 oy _n g2t B = ExTHTX

L =12 (longest side)
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